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Ex 1) [E3CIZ 72 2 ]

o A = 10230(101E%L T 300) DA
ZDhEkE, B=03201&720,
D1 = 10230 + 3201 = 20031.
X 512, Dy = 20031 + 13002 = 33033.
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Ex 2) B30I 70 & 43889 5

o A = 10332(10 X T 318) DA

VT RESCO#EAEZ 100[BH T TR OFER TH 5.
1,0, 3,3, 2]

— [1 0 0, 2, 3, 3]

A=[1,1,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,3 222 3,3,3,
3,3,3,3,3,3,3,3,3,3,3,3,0, 1]
A=[2,2,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0, 21,1, 1,3, 3,3,
3,3,3,3,3,3,3,3,3,3,3,3,1, 2
A=[1,0,3,3,3,3,3,3,3,33,33,3,3,3,3,3,3,23,0,0, 0,
0,0,0,0,0,0,0,0,0,0,0,0,0,0, 0]
A=[1,1,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0 3 1,2 3, 3,3,
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3.1. 4O DOF NG, B3 O#AEEZ 100[E1T-> TH
(272 B2 E BT D, (981#)

200 a=[1, 0, 2, 0
318 a=[1, 0, 3, 3
378 a=[1, 1, 3, 2
1,1,3,3
1,2,3,1

381 a=
438 a=

)

)

~

1460 a=[1, 1, 2, 3, 1, 0
1462 a=|1, 1, 2, 3, 1, 2]
1479 a=[1, 1, 3, 0, 1, 3]
1497 a=[1, 1, 3, 1, 2, 1]
1498 a=[1, 1, 3, 1, 2, 2
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1,0,3,3,2,3,0,0]
1,0,3,3,3,2,3,0,0,0]
1,0,3,3,3,3,2,3,0,0,0,0]
1,0,3,3,3,3,3,2,3,0,0,0,0,0]
1,0,3,3,3,3,3,3,2,3,0,0,0,0,0,0]
1,0,3,3,3,3,3,3,3,2,3,0,0,0,0,0,0, 0]
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k-1 k1

10 30727 3323 0" (0
(@) (u)

+) 00027 3233 307 01
k=1 k-1

11 007 3299 3( 2 ) 01

8IS ERE 24T - T (Blodd)(k) 12 S BIZE S EE %
79 .




4. FEH

Alodd)(k) =  Blodd)(k) = C(odd)(k)
= A(even)(k +2) = B(even)(k +2) = C(even)(k + 2)
= Aodd)(k+2) = -
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4.1. 108EEFE TR ~1500 DELFHOZET A 4 HEE Iz H>WTLL
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/l\
81600
a N
43350 16575
) N
24225 8925
) a N
20400 5100 4860
t t N
10710 1275 1179
) ) )
5985 765 510 462 972
a N
5040 3150
+ v N
1071 1449 1653
) + N + N
318 438 567 627 882 639 759 954
573 633 0 0
693 695 636 696 756 732
753 828

888 948



